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kilépés Fordulonkénti gy6zelmek szama Teljesitmények:
NEV: CSAPAT: 1(2(3]|4|5|6|7|8]|9]|10/11/12]O0.Mé|(Gy|Ver] %
Heronyanyi - Dr.Varga P |Siéagard 0 |0]O
Dr. Varga P-Sagi Janos |Siéagard 111(1]11{0|1{0|1(1 9 (7] 2 77,78
Szunyogh - Dr. varga P |Siéagard 111 2 (2] 0] 100,00
Heronyanyi - Sagi Sidagard 0 |0]O
Gyimesi - Németh Z TMSZSE-I 0 1 111 4 3|1 75,00
TMSZSE-I 0 (0] O
Németh Z - Németh | TMSZSE- 0 0f1]1 1101 7 |4] 3] 57,114
Németh A - Németh | TMSZSE- 0 (0] O
TMSZSE-| 0 [0]O
Mézes - Téth GY Bata SC 111 1 1111 6 | 6] 0] 100,00
Nagy - Toth Bata SC 1 1 |1] 0] 100,00
Dér - Szuromi V Bata SC 0 1 10 1 0,00
Dér J - Toth Gy Bata SC 1 111 3 [3] 0] 100,00
Stankovics - kocsis J Vardomb 1 1 |1] 0] 100,00
Kishonti - Vajda Vardomb 0 0 2 (0] 2 0,00
Kocsis - Vajda Vardomb 0|1 111 1{0(0 7 [4] 3 57,14
Vardomb 0 |0]O
Simon - Stankovics Vardomb 0 1 10 1 0,00
Simon - Vajda Vardomb 0 ([0]|O
Vardomb 0 |0]O
Simon - Kishonti Vardomb 0 |0]O
Kizakisz - Balint Yorgos SE 0 1 10 1 0,00
Kizakisz - Vermes Yorgos SE 0o(o]0 3 10]3 0,00
Vermes - Balint Yorgos SE 0 11110]0(0]0 7 (2] 5 28,57
Yorgos SE 0 |0]O
Yorgos SE 0 |0]O
Yorgos SE 0 |0]O
Osztermajerné-Sike G. |TMSZSE-II 110|111 (0f0]jO|1|1]1[1 1 | 7| 4] 63,64
Somogyi - Sike TMSZSE-II 0 |0]O
Osztermajerné-Misetics |TMSZSE-II 0 |0]O
Somogyi - Misetics TMSZSE-II 0 |0]O
Osztermajerné-Somogyi |TMSZSE-I 0 |0]O
TMSZSE-III 0 (0] O
Strobl - Pelczer TMSZSE-III 1 Of1]1]11]0[1[1]1 9 |7 2] 77,78
Méhes - Strobl TMSZSE-III 1 1 2 | 2] 0] 100,00
Méhes - Pelczer TMSZSE-III 0 ([0]O
Hajdu - Méhes L TMSZSE-III 0 [0]O
Angyal S - Gazdag F MMG 0]0]0 3 10]3 0,00
Karpati F - Angyal S MMG 0 |0]O
Gazdag F - Sz6ke MMG 0 of{ojoj1]0|0fo0 8 |1] 7] 12,50
Karpati - Gazdag F MMG 0 (0]|O
Saringer - Sz6ke MMG 0 |0]O
Angyal - Sz6ke MMG 0 |0]O
Karpati - Széke MMG 0 ([0]O
Sz6ts P- Pechar P Bonyhad V. 1 1 |1] 0] 100,00
Sz6ts P - Cserg6 Bonyhad V. 1 1 |1] 0] 100,00
Pechar P - Sz6ts T Bonyhad V. 0 ([0]O
Banyai - Csergé Bonyhad V. 0 1 10 1 0,00
Banyai - Pechar P Bonyhad V. 110(1]0 0]0 6 [2| 4] 33,33
Pechar Cs - Pechar P Bonyhad V. 111 2 (2] 0 (100,00
Ban - Rozsa Atomeré6mi SE | 0] 0|0 3 (0] 3 0,00
Béda - Rézsa Atomerém( SE 1 1 |1| 0] 100,00
Bujdos - R6zsa Atomerém( SE 0 1 2 (111 50,00
Szabé Sz - Rézsa Atomerém( SE 0 1 (0] 1 0,00
Szabé Sz - Szabd S Atomerém( SE 0 [0]O
Béda - Németh Atomerém( SE 0 0fo0 3 (0] 3 0,00




Mihalyfi - Szabé S Atomerém( SE 1 |01 0,00

Rozsa - Otvos Atomerémii SE 0 [0f0O

Balogh - Nemes Kakasd 6 (2] 4 33,33

Balogh ifj. - Nemes Kakasd 2 (0] 2 0,00

Balogh - Matyas Kakasd 0 ([0]O

Nemes - Matyas Kakasd 0 ([0]O

Balogh ifj. - Matyas Kakasd 0 |0]O

Balogh - Kerekes Kakasd 1 10 1 0,00

Kerekes - Nemes Kakasd 2 |11 50,00

Jezovith - Jung L Baja Dinamika 2 (2] 0 (100,00

Jezovith - lllés Baja Dinamika 2 |11 50,00

lllés - Galantai Baja Dinamika 0 ([0]|O

Varga - Galantai Baja Dinamika 0 ([0]|O

Galantai - Stark Baja Dinamika 3 (1] 2 33,33

Jung - Katona Baja Dinamika 1 |1] 0] 100,00

Varga Toth Z Baja Dinamika 2 (0] 2 0,00

Varga - Jung Baja Dinamika 1 10 1 0,00
0 [0]O

Jung - lllés

Baja Dinamika




